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1
Introduction
The basic definitions of the NR Cell Global Identifier (NCGI), NR Cell Identity (NCI) and gNB Identifier (gNB ID) have been agreed in TS 38.300: 

-
NR Cell Global Identifier (NCGI): used to identify NR cells globally. The NCGI is constructed from the PLMN identity the cell belongs to and the NR Cell Identity (NCI) of the cell.

-
gNB Identifier (gNB ID): used to identify gNBs within a PLMN. The gNB ID is contained within the NCI of its cells.

Based on the above definitions and other agreements, the leftmost bits of the NCI correspond to the gNB ID while the remaining rightmost bits correspond to the local cell identity within the gNB.

At RAN3#97, the length (in bits) of the NCI was discussed and the following Working Assumption (WA) was reached:

Working Assumption: Length of NR Cell Identity is 36 bits
In addition, the following was agreed:

Agreement: gNB ID (contained in the NCI) can be of variable length (whether it is a discrete set or a range is FFS)
The above decisions were reached based on input received from operators during the RAN3#97 meeting. Some of the input is captured below:

-
At least one operator indicated that a gNB ID length of 26 bits is needed. In that scenario, 1024 cells per gNB (10 bits) was considered sufficient. The 26 bits for gNB ID length was the upper bound proposed during RAN3#97.
-
Smaller values of gNB ID length were also proposed, e.g. 18, 20 and 24 bits.
2
Way Forward
The following Way Forward is proposed for RAN3#97bis:
1)
Confirm that 36 bits for NCI is OK => convert the Working Assumption into an Agreement.
2)
Send an LS to RAN2 to inform them of the agreement, so that they can take it into account when designing system information.
3)
Discuss whether gNB ID length is a discrete set or a range, i.e. what values of gNB ID length should be supported?
4)
Discuss what should be the maximum number of cells per gNB.

